P06 station #155 (V2) Figure 3 |
U-err std: 0.060 median(U-err) [r/b: down-/up-cast] oce

0.2 .
20 | 20 0.5
| 1000
-10 | 0.1 10 ? =
3+ i I+ — 2000
s O “ﬂ 0 c 0 S 0
m e m o
w0l s 10 2 3000
20 20 4000
0.2 -0.5
200 -0.68.0200.0Q.04 200
Super Ensemble # Residual [m/s] E\r}semble #
V-err std: 0.061 median(V-err) [r/b: down-/up-cast] " oce
20 0.2 20 0.4
200 0.1 10 | 1000 02
* gl ** E. 2000
O] — 0 0 i
5 [ @ £ °
b ) @ B000
10 f \1 -0.1 10 a) -0.2
20 | -20 1000
‘ i -0.2 0.4
200 -0.68.0200.02.04 200 800

Super Ensemble #

Residual [m/s]

Ensemble #



